EJEMPLO HC 2

Ejemplo HC 2

N A
Emilo Letor 2 | 3000
Dpto. Inteligencia Artificial, UNED 3 1500

4
Porcentajes (1/5) Porcentajes (2/5)
A C A

1 | 2000 1 {2000
2 | 3000 2 | 3000
3 |1500 311500
4 4 16500

E. Leton

E. Leton




Porcentajes

(3/5)

Porcentajes

(4/5)

E. Leton

E. Leton

A B A B
1 {2000 | 30,77 1 | 2000 30,77
2 13000 2 | 3000
3 | 1500 3| 1500
4 16500 4 16500
Porcentajes (5/5) Crecimientos (1/2)
A B A B
1 (2000 30,77 12000 5
2 | 3000 |46,15 213000 3
3 | 1500 |23,08 311500 2
4 16500 4




Crecimientos (2/2) Resumen: ejemplo HC 2

A B C
2000|4000
3000 | 5000
1500 | 2000
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E. Leton E. Leton

E. Leton




